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ie = IECore()

model = ie.read network(model="kera ~ . yLized. xil gatssess L

compiled_model = ie.load_network(network=model, device_ nar ' Al v ¥

input_key = next(iter(model.input_info)) hsv = cv2.cvtColor(frame, C

output_key = next(iter(model.outputs))

# Load the class names i ¥ def ‘ inae F Red ‘ HSV

class_names = open(“labels.txt", "r").readlines() lower _red np.array([150,20,30])

# Define the confidence threshold Upper_red = np.arFBY([170,235,235])
confidence threshold = 0.85 ) 9 Y4 | +ha HS imanes 1 =%
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# Define a function for inference maskod = ch.‘lnRange(hsv, 1ower_red, upgper
def inference(image):

# Preprocess the image for the model v ’

image = cv2.resize(image, (224, 224), interpolationzcv r del ¢ ingeZ O Red ( " SR _g F 5(' % E% % ‘x< )g é}

image = np.asarray(image, dtype=np.float32).reshape(1l, np array([o 20 30]) v Z v a1 —L‘
. ’ ’

image = (image / 127.5) |- 1 lower_red =
upper_red = np.array([20,235,

N B33 Y E o . pE
# Make a prediction using the model o : A +h | , . '—L‘ ‘% ﬁ j,‘ rz ] A — A .i
prediction = compiled_model.infer(inputs={input key: 1 l/ ~ E £ :{i 1 j; Iv - j‘ LI‘ ﬁ i?‘ N = LI‘ Fjg

/
index = np.argmax(prediction[output_key]) maskl = cv2.inRange(hsv, low ; ,
class_name = class_names[index] mask?2 = cv2.bitwise or(mask1l 2 2 L / - 2 - ) -+, v 7 /$ (I -> | o h— &=
confidence score = prediction[output_key][© - ( g /Ji ‘ﬁ,b ) E\ fg ] — SN 54 IJ -gc o N> ) j’\l ]FB EP 1‘ ‘\‘E'J:E'\ $\/ﬁ]ﬂ— B‘b
# Check if the confidence score is above @ thresholc # detine | 14 r | 1 olor in | , 2
if confidence score > confidence t shold: >
AP ndex —= & =T lower_blue = np.array([110,20,30]) W EQK

#arm.reset(wait=True) upper blue
arm.set_vacuum_gripper(True, wait=False) o Thicaekal ol
#arm.set position(-49.5, 257.5, 252.8, -177.6, e ——
arm.set_position(-95, 318.2, 191.5,179.3, -0.2 maskZl
#arm.set position(121.9, 221.4, 245.5, 171,2.:3
arm.set_vacuum_gripper(True, wait=False) mask22
#arm.set _vacuum _gripper(True, wait=False)
#arm.set_position(-124.1, 213.7, 186, 175.7,1. ’
#arm.set_vacuum_gripper(True, wait=False) |
arm.set_position(-239.6, 212.4, 235.4, -174]7, lower_yellow
arm.set_position(-232, 204, 183.8,174.1,2.5,17 upper yellow

np.array([140,235,150])

cv2.inRange(hsv, lower_blue; uppe
cv2.bitwise or(mask21,mask2)

np.array([25,20,30])
np.array([50,235,140])

arm.set_vacuum_gripper(False, wait=False)
arm.set_position(-239.6, 212.4, 235.4, -1747, F LI C
arm.set_position(-45.1, 328.5, 238, -167.7, (14 mask23

#arm.reset(wait=True) = ch.‘l.nRange(hsv, IOWS? el to ,“"
elif index == 1: mask24 = cv2.bitwise or(mask2 i{ g éfqgg,gﬂ
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